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In 1970, the population of Kern County, California, was about 0.
From 1970 to 2000, the county population grew at an average

rate of 2.4%.

(a) Write an exponential growth model giving the population, P, of Kern
County t years after 1970.

(b) About how many people lived in Kern county in 19907

(c) Estimate the year when the population of Kern County was about
400,000 using the graph.
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Your bank pays 3.6% annual interest. If you decide to deposit
$4400 in your account, what will your balance be after 2 years if
interest is compounded:

(a) semiannually

(b) monthly
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